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AY–333

B.A. (Part–III) Semester–VI Examination
(Optional Subject)

HISTORY
History of Modern World (From 1921 to 1965 A.D.)

Time : Three Hours] [Maximum Marks : 80

Note :—(1) All questions are compulsory.

(2) The answers of essay type questions carrying 16 marks each are expected in near
about 800 words.

(3) The answers of short answer type questions carrying 4 marks each are expected
in near about 200 words.

1. Answer the following questions :

(a) Describe the economical reforms of Benetto Mussolini. 4

(b) Give any two reforms of Hitlar. 4

(c) Explain about the Stalin's. 4

(d) Explain the reasons behind the great depression. 4

OR

(e) Narrate the understanding contract between Mussolini and Pop (Lateran). 4

(f) Write short notes on Munich Pact. 4

(g) Examine the economical reform in Russia done by Stalin. 4

(h) Describe the effect of great depression. 4

2. Explain the cause and effects of Second World War. 16

OR

Give information about the diplomatic conferences during the World War (1939–1945).
16

3. Explain the aims, objects and structure of United Nations Organizations (UNO). 16

OR

Write about American and Russia emerging as a World Power. 16

4. Choose the correct options :

(1) After IInd World War both America and Russia's conflicts is known as :

(a) War Policy (b) War accused

(c) International lobbying (d) Cold War

(2) North Korea attacked on South Korea in :

(a) June 1953 (b) June 1952

(c) June 1951 (d) June 1950
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(3) Where was "Warsaw" headquarter situated ?

(a) Paris (b) Mascow

(c) New York (d) London

(4) In 1956 which country keep distance during the Israel–Egypt War time ?

(a) Russia (b) Britain

(c) France (d) America

(5) Which country play a vital role to stand the Berlin Wall ?

(a) East Germany (b) W. Germany

(c) Austria (d) Russia

(6) What did you mean by U-2 ?

(a) Institution (b) Proposal

(c) Contract (d) An Aeroplane of America

(7) Which country was not a part of "NATO" ?

(a) America (b) England

(c) France (d) India

(8) 'Four point planning' declared by :

(a) Churchil (b) Roosevelt

(c) Marshal (d) Moletive

(9) Which country create 'SEATO' Pact ?

(a) England (b) America

(c) Russia (d) China

(10) Which country lead the Warsaw Pact ?

(a) America (b) Russia

(c) England (d) Japan

(11) Where is the headquarter of 'NATO' situated ?

(a) Berlin (b) Paris

(c) Mascow (d) Hiroshima

(12) Which country introduced the 'Trumen Theory' ?

(a) Russia (b) France

(c) Germany (d) America

(13) The Cold War begin in these two country just after the Second World War :

(a) America–England (b) England–France

(c) America–Russia (d) Germany–Italy
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(14) _______ is the pact in which England Turkasthan, Iran and Pakistan are united.

(a) Berlin (b) NATO

(c) Warsaw (d) CENTO

(15) Which country introduced the 'Marshal Plan' ?

(a) France (b) America

(c) England (d) Japan

(16) The country who is not included in SEATO :

(a) New Zealand (b) Australia

(c) Pakistan (d) India 1×16=16

5. Answer the following questions :

(a) Write about "Suwez Canal". 4

(b) Give information about the "Eishenhower Theory". 4

(c) Write about Cuba Crises. 4

(d) Describe the British Common Wealth. 4

OR

(e) Explain the nationalization of Suez Canal by Naser. 4

(f) Give a short note on European Unity and Disunity. 4

(g) Write about Western Union. 4

(h) Narrate about Berlin Crises in 1948. 4
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B.A. (Part–III) Semester–VI Examination
(Optional Subject)

HISTORY
History of Modern World (From 1921 to 1965 A.D.)

Time : Three Hours] [Maximum Marks : 80

¼ejkBh ekè;e½
lwpuk%— (1) loZ iz'u vko';d vkgsr-

(2) 16 xq.kkaP;k iz'ukph mÙkjs lqekjs 800 'kCnki;Zar visf{kr vkgsr-
(3) 4 xq.kkaP;k iz'ukph mÙkjs lqekjs 200 'kCnki;Zar visf{kr vkgsr-

1. [kkyhy iz'ukaph mÙkjs fygk %
(v) csuhVks eqlksfyuhP;k vkfFkZd lq/kkj.kk lkaxk- 4

(c) fgVyjP;k dks.kR;kgh nksu lq/kkj.kk lkaxk- 4

(d) LVWfyu ckcr ekfgrh |k- 4

(M) tkxfrd egkeanhph dkj.ks lkaxk- 4

fdaok
(b) eqlksfyuh&iksi ¼yWVsju djkjkps½ o.kZu djk- 4

(Q) E;qfud djkjkoj fVi.k fygk- 4

(x) jf'k;krhy LVWyhuP;k vkfFkZd lq/kkj.kkaps ifj{k.k djk- 4

(g) tkxfrd eanhps ifj.kke lkaxk- 4

2. nqlÚ;k egk;q)kph dkj.ks lkaxqu ifj.kke Li"V djk- 16

fdaok
egk;q)dkyhu jktuSfrd ifj"knkaph ekfgrh fygk ¼1939 rs 1945½- 16

3. la;qDr jk"Vªla?kVusph /;s; o mfí"Vs lkaxqu lajpuk Li"V djk- 16

fdaok
tkxfrd egklÙkk ;k ukR;kus vesfjdk vkf.k jf'k;k ;k jk"VªkaP;k >kysY;k mn;kaps o.kZu djk- 16

4. [kkyhy iz'ukps ;ksX; i;kZ; fuoMk :
(1) nqlÚ;k egk;q)kuarj vesfjdk o jf'k;k ;kP;krhy la?k"kkZyk dk; Eg.krkr \

(v) ;q)furh (c) ;q)canh
(d) vkarjjk"Vªh; opZLo (M) f'kr;q)

(2) mÙkj dksfj;k us nf{k.k dksfj;koj d/kh vkØe.k dsys \
(v) tqu 1953 (c) tqu 1952

(d) tqu 1951 (M) tqu 1950
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(3) oklkZps eq[; dk;kZy; dsys vkgs \
(v) iWjhl (c) ekLdks
(d) U;q;kdZ (M) yaMu

(4) 1956 e/ks bòk;y&bftIr ;q)kP;k osGh ;q)kiklqu nqj jkg.kkjs jk"Vª dks.krs \
(v) jf'k;k (c) fczVu
(d) Ýkal (M) vesfjdk

(5) ckfyZuph fHkar dks.kR;k jk"Vªkaus mHkkjyh \
(v) iwoZ teZuh (c) if'pe teZuh
(d) vkWLVªh;k (M) jf'k;k

(6) U–2 ¼;q&2½ dk; vkgs \
(v) laLFkk (c) izLrko
(d) djkj (M) vesfjdsps foeku

(7) [kkyhyiSdh dks.kR;k ns'k ukVkspk lnL; ukgh \
(v) vesjhdk (c) baXyaM
(d) Ýkal (M) Hkkjr

(8) ßpkj dyeh ;kstukÞ dks.kh tkghj dsyh \
(v) pfpZy (c) :>osYV
(d) ek'kZy (M) eksyksfVOg

(9) flVks djkj dks.kh ?kMowu vk.kyk \
(v) baXyaM (c) vesfjdk
(d) jf'k;k (M) fpu

(10) oklkZ djkjkpk eq[; izorZd ns'k dks.krk \
(v) vesfjdk (c) jf'k;k
(d) baXyaM (M) tiku

(11) ukVksps eq[; dk;kZy; dksBs vkgs \
(v) cyhZu (c) iWfjl
(d) ekWLdks (M) fgjksf'kek

(12) Vª weu fl)kar dks.kR;k ns'kkus ekaMyk \
(v) jf'k;k (c) Ýkal
(d) teZuh (M) vesfjdk
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(13) nqlÚ;k egk;q)kuarj f'kr;q) dks.kR;k nksu jk"Vªkr lq: >kyks \
(v) vesfjdk&baXyaM (c) baXyaM&Ýkal
(d) vesfjdk&jf'k;k (M) teZuh&bVyh

(14) baXyaM] rqdZLFkku] bjk.k o ikfdLrku ;k jk"Vªkapk la?k vlysyk djkj dks.krk \
(v) cyhZu (c) ukVks

(d) oklkZ (M) lsaVks

(15) ek'kZy ;kstuk dks.kR;k ns'kkus lq: dsyh \
(v) Ýkal (c) vesfjdk

(d) baXyaM (M) tiku

(16) lhVhe/ks lekfo"V ulysys jk"Vª dks.krs \
(v) U;q>hyaM (c) vkWLVªsfy;k

(d) ikfdLrku (M) Hkkjr 1×16=16

5. [kkyhy iz'ukaph mÙkjs fygk %
(v) ^lqos> dkyok* ;koj fVi.k fygk- 4

(c) ^vk;lsugkoj fl)kar* ;koj ekfgrh fygk- 4

(d) D;qck iz'ukckcr fygk- 4

(M) fczVh'k jk"Vªdqykfo"k;h ekfgrh fygk- 4

fdaok
(b) uklsjus lqos> dkyO;kps jk"Vªh;hdj.k dk dsys \ 4

(Q) ;qjksfi;u ,sD; o foHkktukfo"k;h ekfgrh fygk- 4

(x) oSLVuZ ;qfu;u oj fVi.k fygk- 4

(g) 1948 cfyZu izlaxkfo"k;h ekfgrh fygk- 4
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¼fgUnh ekè;e½

lwpuk%— (1) lHkh iz'u vfuok;Z gSaA
(2) 16 vadksa ds fn?kksZÙkjh iz'uksa ds mÙkj yxHkx 800 'kCnksa rd gksus pkfg,A
(3) 4 vadksa ds y?kqÙkjh iz'uksa ds mÙkj yxHkx 200 'kCnksa rd gksus pkfg,A

1. fuEufyf[kr iz'uksa ds mÙkj fyf[k, %
(v) csuhVks eqlksfyuh ds vkfFkZd lq/kkj crkb,A 4

(c) fgVyj ds fdlh nks lq/kkjksa ds ckjs esa fyf[k,A 4

(d) LVWfyu ds ckjs esa fyf[k,A 4

(M) fo'o egkeanh ds dkj.k crkb,A 4

vFkok
(b) eqlksfyuh&iksi le>kSrs ¼yWVsju½ dk o.kZu dhft,A 4

(Q) E;qfud la/kh ij fVIi.kh fyf[k,A 4

(x) jf'k;k esa LVWyhu }kjk fd, x, vkfFkZd lq/kkjksa dk ijh{k.k dhft,A 4

(g) fo'o eanh ds ifj.kke crkb,A 4

2. nwljs fo'o;q) ds dkj.k crkdj ifj.kke Li"V dhft,A 16

vFkok
nks fo'o;q)ksa ds njE;ku gqbZ jktuSfrd ifj"knksa dh tkudkjh nhft, ¼1939 ls 1945½A 16

3. la;qDr jk"Vªla?kVuk dk /;s; ,oa mís'; crkdj lajpuk Li"V dhft,A 16

vFkok
fo'o egklÙkk ds ukrs vesfjdk vkSj jf'k;k bu jk"Vªksa ds mn; dk o.kZu dhft,A 16

4. fuEufyf[kr iz'uksa ds ;ksX; fodYi pqfu, :

(1) nwljs fo'o;q) ds i'pkr vesfjdk ,oa jf'k;k nksuksa dh 'k=qrk dks D;k dgrs gSa \
(v) ;q)uhfr (c) ;q)canh
(d) varjkZ"Vªh; opZLo (M) 'khr;q)

(2) mÙkj dksfj;k us nf{k.k dksfj;k ij dc vkØe.k fd;k \
(v) twu 1953 (c) twu 1952

(d) twu 1951 (M) twu 1950
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(3) oklkZ dk eq[; dk;kZy; dgka fLFkr gS \
(v) isfjl (c) ekLdks
(d) U;w;kdZ (M) yaMu

(4) 1956 eas bòk;y&bftIr ;q) ds le; ;q) ls vyx jgus okyk ns'k dkSulk gS \
(v) jf'k;k (c) fczVsu
(d) Ýkal (M) vesfjdk

(5) ckfyZu nhokj fdl ns'k us [kM+h dh \
(v) iwoZ teZuh (c) if'pe teZuh
(d) vkWLVªh;k (M) jf'k;k

(6) U–2 ¼;w&2½ D;k gS \
(v) laLFkk (c) izLrko
(d) la/kh (M) vesfjdk dk gokbZ tgkt

(7) fuEu esa dkSulk ns'k ukVks dk lnL; ugha gS \
(v) vesfjdk (c) baXySaM
(d) Ýkal (M) Hkkjr

(8) ßpkj dyeh ;kstukÞ dk ,syku fdlus fd;k \
(v) pphZy (c) :>osYV
(d) ek'kZy (M) eksyksfVOg

(9) ßlhVks la/khÞ dk fuekZ.k fdl jk"Vª us fd;k \
(v) baXySaM (c) vesfjdk
(d) jf'k;k (M) phu

(10) oklkZ la/kh dh vxqokbZ djusokyk ns'k dkSulk gS \
(v) vesfjdk (c) jf'k;k
(d) baXySaM (M) tkiku

(11) ukVks dh eq[; dpgjh dgk¡ gSa \
(v) cyhZu (c) iSfjl
(d) ekWLdks (M) fgjksf'kek

(12) Vª weu fl)kar fdl jk"Vª us ?kksf"kr fd;k \
(v) jf'k;k (c) Ýkal
(d) teZuh (M) vesfjdk

LL—15525 8 (Contd.)
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(13) nwljs fo'o;q) ds ckn dkSuls nks jk"Vªksa ds chp 'khr;q) tkjh gqvk \
(v) vesfjdk&baXySaM (c) baXySaM&Ýkal
(d) vesfjdk&jf'k;k (M) teZuh&bVyh

(14) baXySaM] rqdZLFkku] bjku ,oa ikfdLrku bu jk"Vªksa dk la?kVu dgykbZ xbZ la/kh dkSulh \
(v) cyhZu (c) ukVks

(d) oklkZ (M) lsaVks

(15) ek'kZy ;kstuk fdl jk"Vª us 'kq: dh \
(v) Ýkal (c) vesfjdk

(d) baXySaM (M) tkiku

(16) lhVks la/kh esa 'kkfey uk gksus okyk ns'k dkSulk gS \
(v) U;wthySaM (c) vkWLVªsfy;k

(d) ikfdLrku (M) Hkkjr 1×16=16

5. fuEufyf[kr iz'uksa ds mÙkj fyf[k, %
(v) ^lqos> ugj* ij fVIi.kh fyf[k,A 4

(c) ^vk;lsugkoj fl)kar* dh tkudkjh nhft,A 4

(d) D;wck iz'uksa ds ckjs es fyf[k,A 4

(M) fczVh'k jk"Vªdqy laca/kh Li"Vhdj.k fyf[k,A 4

vFkok
(b) uklsj us lqos> ugj dk jk"Vªh;dj.k D;ksa fd;k \ 4

(Q) ;wjksfi;u ,drk vkSj foHkktu ij tkudkjh fyf[k,A 4

(x) osLVuZ ;wfu;u ij Li"Vhdj.k fyf[k,A 4

(g) 1948 cfyZu okjnkr dh tkudkjh fyf[k,A 4
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